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��  ��	�2YHU�:DON-7URW�3ROHV�(T� 
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���  &URVV�5DLOV�*UHHQ�+RUVH�8�6 
���� %HJLQQLQJ�-XPSHU��¶ 
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���� %HJLQQLQJ�-XPSHU 
���� +RSHIXO�-XPSHU��¶�´-�´ 
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���� 3UH�,QWHUPHGLDWH�&KLOG�$GXOW� 
���� 7KRURXJKEUHG�-XPSHU�7,3��¶�´-�¶ 
���� 7KRURXJKEUHG�-XPSHU�7,3� 
���� 7KRURXJKEUHG�-XPSHU�7,3� 
���� 6FKRROLQJ�-XPSHU��¶-�¶�´ 
���� 6FKRROLQJ�-XPSHU 
���� 6FKRROLQJ�-XPSHU 
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%UHHGLQJ�'LYLVLRQ—LQ�KDQG�FODVVHV 
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���  7ZR�<HDU�2OGV 
���  7KUHH�<HDU�2OGV 
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��� %HJ��+RUVH�3RQ\�2�)��¶ 
��� %HJ��+RUVH�3RQ\�2�)� 
��� %HJ��+RUVH�3RQ\�8�6 
��� %HJLQQHU�5LGHU�2�)��¶ 
��� %HJLQQLQJ�5LGHU�2�) 
��� %HJLQQHU�5LGHU�8�6 
��� 6KRUW�6WLUUXS�2�)��¶ 
��� 6KRUW�6WLUUXS�2�) 
��� 6KRUW�6WLUUXS�(TXLWDWLRQ�2�) 
��� 6KRUW�6WLUUXS�8�6 
��� 6KRUW�6WLUUXS�(TXLWDWLRQ�)ODW 
��� /RQJ�6WLUUXS�2�)��¶ 
��� /RQJ�6WLUUXS�2�) 
��� /RQJ�6WLUUXS�(TXLWDWLRQ�2�) 
��� /RQJ�6WLUUXS�8�6 
��� /RQJ�6WLUUXS�(TXLWDWLRQ�)ODW 
��� (TXLWDWLRQ����	�8QGHU�2�)��¶ 
��� (TXLWDWLRQ����	�8QGHU�)ODW 
����  .+-$�0HGDO��¶ 
����  2+-$�0HGDO��¶��6DWXUGD\�2QO\� 
��� &KLOGUHQ¶V�+XQWHU�3RQ\�2�) 
��� &KLOGUHQ¶V�+XQWHU�3RQ\�2�) 
��� &KLOGUHQ¶V�+XQWHU�3RQ\�8�6 
����  �¶�´�:DUP�8S 
����  .+-$�0HGDO��¶�´ 
����  2+-$�0HGDO��¶�´��6DWXUGD\�2QO\� 
��� (TXLWDWLRQ���-���2�)��¶�´ 
��� (TXLWDWLRQ���-���)ODW 
��� 6SHFLDO�+XQWHU�2�)��¶�´ 
��� 6SHFLDO�+XQWHU�2�) 
��� 6SHFLDO�+XQWHU�8�6 
��� %DE\�*UHHQ�2�)��¶�´ 
��� %DE\�*UHHQ�2�) 
��� %DE\�*UHHQ�8�6 
��� 7KRURXJKEUHG�+XQWHU�2�)�7,3��¶�´ 
��� 7KRURXJKEUHG�+XQWHU�2�)�7,3��¶�´ 
��� 7KRURXJKEUHG�+XQWHU�8�6�7,3� 
��� ,QWHUPHGLDWH�&KLOG�$GXOW�2�)��¶�´ 
��� ,QWHUPHGLDWH�&KLOG�$GXOW�2�) 
��� ,QWHUPHGLDWH�&KLOG�$GXOW�(T�2�) 
��� ,QWHUPHGLDWH�&KLOG�$GXOW�8�6 
��� ,QWHUPHGLDWH�&KLOG�$GXOW�(T�)ODW 
����� .+-$�$GXOW�0HGDO��¶�´�RU��¶ 
����� �¶�:DUP�8S 
��� (TXLWDWLRQ����	�2YHU�2�)��¶ 
��� (TXLWDWLRQ����	�2YHU�)ODW 
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��� /RZ�+XQWHU�2�)��¶ 
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· 1HJDWLYH�&RJJLQV�5HTXLUHG 
· $OO�KRUVHV�PXVW�KDYH�FXUUHQW�KHDOWK�

FHUWLILFDWH� 
· $670�DSSURYHG�KHOPHWV�PXVW�EH�

ZRUQ� 
· &RDWV�	�EUDLGLQJ�QRW�UHTXLUHG� 
· $OO�FODVVHV�MXGJHG�RQ�SHUIRUPDQFH�
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